Using Two-Way Tables for Probability (CP 3)


Name:____________________
Demonstrating the Conditional Probability Rule 






                     TV Preference
	
	
	World Series
	Monday Night Football
	Neither
	Total

	Year in School
	Freshman
	5
	7
	10
	22

	
	Sophomore
	3
	2
	5
	10

	
	Junior
	4
	2
	9
	15

	
	Senior
	18
	22
	30
	70

	
	Total
	30
	33
	54
	117


A student from this sample space is randomly chosen.
1.  What is the probability the student is a junior GIVEN that he watched the World Series?  Explain your reasoning on how you calculated the probability.

P(Junior|WS) = ______

2.  Here is one students’ reasoning…”I am given that the student watched the World Series…so that means I have to be talking about one of the 30 students that watched the World Series.  The probability of choosing one of those from this sample space is 
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 .  BUT, I want the probability that I choose a junior….but since I already know that the student watched the World Series, that means the student that I want is a junior AND watched the World Series.  The chances of that happening, that is, P(junior AND World Series) = 
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.  So if I think about probability of being what I want out of the total possibilities…that would be:
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Critique the reasoning of this student.  

Conditional Probability Rule 
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P(Junior given watched the World Series) = 
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P(Junior|World Series) =
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Practice:

3.  What is the probability the student watched neither given he was a senior?

4.  Find the conditional probability of being a sophomore given he watched Monday Night Football.

5.  Find P(World Series|Freshmen).

6.  Find the probability that a student was a junior given that he did not watch Monday Night Football.

7.  Let event A represent choosing a Junior.  Let event B represent choosing someone that watched neither.

	a)  Find 
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	TV Preference

WS

MNF

Neither

Total

Year in School

Freshman

5

7

10

22

Sophomore

3

2

5

10

Junior

4

2

9

15

Senior

18

22

30

70

Total

30

33

54

117



	c) 
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